CONTEMPRA / IME- SERIES

BUL10086
REV. A

ASSEMBLY INSTRUCTIONS FOR

CONTEMPRA & IME PLINTH
PAGE10F 1

Typical detail of
corner bracket
and rack frame

PARTS LIST

DESCRIPTION

Q
<

1 BOTTOM CORNER OF CABINET

CORNER SUPPORT

5/16 HEXHD SCREW

10-32 CLIP NUT

10-32 PHILLIPS HD SCREW

INNER SUPPORT PLINTH

2
3
4
5 REMOVABLE PANEL
6
7
8

5/16 LOCK WASHER

I N1 N ) Y NG RN e

1/2" Socket
Wrench

Phillips
Screw Driver

ASSEMBLY INSTRUCTIONS:

A) Plinth comes pre-assembled.
B) Lay rack frame (item 1) on side.

C) Fasten plinth to base of rack using 5/16 bolt (item 3) and lock
washer (item 8) thru hole in inner support (item 7) and into
weldnut on bottom of cabinet (item 1) typical 4 corners.

D) Removable panels (item 5) can be taken off by removing 10-32
screws (item 6)

HAMMOND
MANUFACTURING:w

ELECTRONICS GROUP

visit our website @ www.hammondmfg.com




